24 Days of Puzzles
Day 14 — NOB Puzzle

In the puzzle below, the six right-most numbers in the bottom row are a combination of two numbers, the
number to the left and the number above. This is illustrated with the two arrows that point to these
numbers.

For example, 24 (the second number in the bottom row) is a combination of 64 (above) and 40 (to the
left). Similarly, 44 is a combination of 68 and 24. Given these two examples, the combination looks like
subtraction, 64-40 = 24 and 68-24 = 44 But it's NOT simple subtraction!

To solve the puzzle, all you need to do is fill in the empty red square in the bottom row. Be assured that the

solution is NOT 35! Just combine two numbers (using simple arrithmetic) to find the third number!
Good Luck!



